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; 100kN/M%E#B 2% - -~ - -[3mEEZS -~ - - -| 100kN/ Mm% 2% - -~ - [ 3mERBZS -~ -
zh st 1.00 | 000 ~ 321 40.94 | 0S| 000 ~ 321|253 13.52 zhst 1.00 | 6,00 ~ 7.30 40.94 | =hs | 500 ~ 730 | 2.63 13.62
P 100kN/ M%E#B 2% - -~ - -[3mEEZS -~ - - -| 100kN/ Mm% 2% - -~ - [ 3mERBZS -~ - -
zh st 1.00 | 000 ~ 361 45.62 | NS | 000 ~ 361|246 13.16 zhst 1.00 | 5.00 ~ 7.60 45.62 | =hs | 500 ~ 750 | 2.46 13.16
3 100kN/ M%E#B 2% - -~ - -[3mEEZS -~ - - -| 100kN/ Mm% 2% - -~ - -[3mERBZS -~ - -
zh st 1.00 | 0.00 ~ 237 31.73 | NS | 000 ~ 237|274 14.66 zhst 1.00 | 6.00 ~ 7.60 31.73 | ThS | 500 ~ 760 | 274 14.66
4 100kN/ M%E#B 2% - -~ - -[3mEEZS -~ - - -| 100kN/ Mm% 2% - -~ - -[3mERBZS -~ -
zh st 1.00 | 0.00 ~ 360 4550 | #n4 | 000 ~ 360 2.50 13.38 zhst 1.00 | 5.00 ~ 8.00 45.50 | =hds | 500 ~ 800 | 2.50 13.38
5 100kN/ M%E#B 2% - -~ - -[3mEEZS -~ - - -| 100kN/Mi%E# 2% - -~ - -[3mERBZS -~ - -
zh st 1.00 | 000 ~ 279 36.29 | N4 | 000 ~ 279 259 13.88 zhst 1.00 | 6.00 ~ 7.00 36.29 | TnLS | 5.00 ~ 7.00 | 2.5¢ 13.88
5 100kN/ M%E#B 2% - -~ - -[3mEEZS -~ - - -| 100kN/Mi%E#8 2% - -~ - -[3mERBZS -~ -
zh st 1.00 | 0.00 ~ 189 2661 | RS | 000 ~ 189|285 15.26 zhst 1.00 | 6.00 ~ 7.40 2661 | Thds | 500 ~ 740 2.85 15.26
- 100kN/ Mm% Z % - -~ - -|3mEBZB| 000 ~ 0.01| 301 16.10 | 100kN/m%#8 %% - -~ - -|13mERBAB| 5.00 ~ 650 | 3.01 16.10
zh st 1.00 | 000 ~ 118 19.23 | #n4 | 001 ~ 1.18)| 3.00 16.05 zhst 1.00 | 5.00 ~ 6.60 19.23 | #hdst | 500 ~ 5.00 | 3.00 16.05
100kN/ M%E#B 2% ~ 3ImEBRD ~ 100kN/mMZE#BZ % ~ ImEBAS ~
Zhust ~ Zhust ~ Zhust ~ Zhust ~
100kN/ M%E#B 2% ~ 3ImEBRD ~ 100kN/mMZE#BZ % ~ ImEBAS ~
Zhust ~ Zhust ~ Zhust ~ Zhust ~
100kN/ M%E#B 2% ~ 3ImEBRD ~ 100kN/mMZE#BZ % ~ ImEBAS ~
Zhust ~ Zhust ~ Zhust ~ Zhust ~
100kN/ M%E#B 2% ~ 3ImEBRD ~ 100kN/mMZE#BZ % ~ ImEBAS ~
Zhust ~ Zhust ~ Zhust ~ Zhust ~
100kN/ M%E#B 2% ~ 3ImEBRD ~ 100kN/mMZE#BZ % ~ ImEBAS ~
Zhust ~ Zhust ~ Zhust ~ Zhust ~
100kN/M%E#B 2% ~ 3ImEBRD ~ 100kN/mMZE#BZ % ~ ImEBAS ~
Zhust ~ Zhust ~ Zhust ~ Zhust ~
100kN/M%E#B 2% ~ 3ImEBRD ~ 100kN/mMZE#BZ % ~ ImEEBAD ~
Zhust ~ Zhust ~ Zhust ~ Zhust ~
100kN/ M%E#B 2% ~ 3ImEBRD ~ 100kN/mMZE#BZ % ~ ImEEBAD ~
Zh st ~ Zh st ~ Zh st ~ Zh st ~
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